
630.5 24.82

430.00 16.929

404.50 15.925

P4 POLE
2X275.0 10.827

3X310.0 12.205

3X282.50 11.122

A

M12X1.75 GND LUG

2X275.00 10.827

2X700.00 27.559

2X90.0 3.54

4X25.0 1.0

114.4 4.5
102.5 4.0

65.0 [2.6] X 85.0 [3.4]
WIRE ACCESS PORT

4X M12 X 1.75

 45.00 

2X 31.11 1.225 45° 

DETAIL A 
SCALE 1 : 2

6X

2X M8X1.25

M10X1.5

NOTES:

Revisions
Zone Rev. Description Date

A INITIAL RELEASE 2014-04-02
B UPDATE COLUMN "PART #" IN THE TABLE 2015-05-27

SUGGESTED SOURCE OF SUPPLY
SUPPLIER DESCRIPTION PART #

ABB BREAKER MODULE P4 
VG4S 750MM A5 1VCF336999R0051

1 3 4 6

A

B

C

E A. Zinetti

ABB Technology Ltd.

US-LKM

Rel. for Production

ECO-G0002158

2015-05-21
2015-05-27US-LKM

US-LKM 2015-05-27 B. Binkley
S. Retzlaff

B

1:8B USTRA

2RGA020510P0001 1 / 1

AMVAC

BREAKER MODULE P4 VG4S 
750MM A5

Sheet No.

Format

Language

Scale

FinishWeight

Subtitle

Type

Material

Derived from

NameDateLocation

Revision

Drawn

Checked

Approved

EC No.

EN

Drawing status

Surface

Title

Drawing No.

Responsible

85 72

87654321

D

A

B

C

D

E

 
 

 

C
O

N
FI

D
EN

TI
AL

Th
e 

in
fo

rm
at

io
n 

co
nt

ai
ne

d 
in

 th
is

 d
oc

um
en

t h
as

 to
 b

e 
ke

pt
 s

tri
ct

ly
 c

on
fid

en
tia

l.
An

y 
un

au
th

or
iz

ed
  u

se
, r

ep
ro

du
ct

io
n,

 d
is

tri
bu

tio
n 

or
 d

is
cl

os
ur

e 
to

 th
ird

 p
ar

tie
s 

is
 s

tri
ct

ly
 fo

rb
id

de
n.

 A
BB

 re
se

rv
es

 a
ll 

rig
ht

s 
re

ga
rd

in
g 

In
te

lle
ct

ua
l P

ro
pe

rty
 R

ig
ht

s.
©

 C
op

yr
ig

ht
 2

01
4 

AB
B.

 A
ll 

rig
ht

s 
re

se
rv

ed
.

 

D
im

en
si

on
s 

ar
e 

in
 

m
m

[in
.]

ST
AN

D
AR

D
 D

IM
EN

SI
O

N
IN

G
 A

N
D

 T
O

LE
R

AN
C

IN
G

 P
ER

 
AN

SI
 Y

14
.5

-1
99

4.
  U

N
LE

SS
 O

TH
ER

W
IS

E 
ST

AT
ED

:
.X

X 
= 

.4
0 

   
   

   
X

 =
 

1
.X

   
 =

 
.8

   
   

   
 .X

 =
 

.5
 


	Sheet1
	Drawing View2
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View A (1 : 2)


